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Hi, 

GTP' uses at least three existing GTP messages - Echo Request/Echo Response 

and Version Not Supported. Which header (GTP' header or GTP header), should 

be used for these messages? From my understanding of the spec, it is not 

clearly defined. The spec just says that these existing GTP messages will be 

used for GTP'. 

Out of these, three messages, "Version Not Supported" message must use GTP' 

header, since the header field in the GTP' header will actually indicate the 

correct version of GTP' that the node supports. There is no other Information 

Element in the "Version Not Supported" message. 

My interpretation of the spec was that, for the purpose of GTP', these message 

types from GTP will be used for GTP' with the GTP header. 

If it is GTP header that need to be used, which version of GTP - 0 or 1? 

Thanks, 

Shekhar Kshirsagar 
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